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Losung Al

a) )= 2+3x2 f'x) = ?Z(ij;i_z)zz)

) S0 e =St
o flx)= 21n(4 +x) + i_xx F(x) = ?ﬁ:;?

4 f'G) = x2+t fi'(x) = —?f;:)tz)

e) f'(x)= -3 £ = _ 9(In(3x+1)+1)

(3x+1)-In (3x+1) (3x+1)2In2(3x+1)
Losung A2
a) f'(x)=e*-cos(e*+1)
f"(x) = —e*(e*sin(e* + 1) — cos(e* + 1))
b) f'(x) =e*- (sin(x) + cos(x)) f"(x) = 2e* - cos (x)
c) f'(x) =3e3* - sin(e?) + 2e5*cos (e?¥)
f"(x) = (9e3* — 4e7*) sin(e?*) + 16e>*cos (e?¥)

/ _ 3eX 1 _ 9e5¥+18e3¥
d fl= 2Ve3%+1 f'x) = 4-(e3%+1)-Ve3¥+1
() = =22 1) = BEDe
e) f (x) = Nezzsi f (x) = (2x+1%-«/m
cos (x) ’" _ _cos (x) .
f) f( ) T sin (x) f (x) T sin2(x) 1
Losung A3
, 2x4+3cos (x) ’ (3x%2-6) sin(x)+12 cos(x)+2x%+9
a) ) =F—+= ') =— .
x2+3sin (x) (3sin(x)+x2)2
b) f( ) cos(In(3x)) f”(x) _ _sin(ln(3x))+cos (In(3x))
—_ = =
_ gy = YE@MEHD
<) f( ) 2x1/ln [€5) f (x) T 4x2in (x)/In (%)
! 174 1
d) f(x)—— f'x) =——
12x+3 " __ 3(8x*+4x+1)
e) f'()= Txiiox fre) = 2x2(2x+1)2
Losung A4
a) f'(x)=2x f'(x) =2
b) f'(a)=-2a (@) = —
c) f'=0 ') =0

d) f'(x) = —3xe* - (2xsin(2x) + (—x — 2) cos(2x))
f"(x) = —3e*(4x(x + 2) sin(2x) + (3x? — 4x — 2) cos(2x))

J1-cos2(x) \/51n2(x)+cosz(x) —cos2(x) \/smz(x)

e) f(X') - sin (x) sin (x) sin (x)

f(x)—O f'x)=0
f) f'x)= COSZ 5= = tan®*(x) + 1 f'(x) = ZC:;Z(()C)) 2tan (x) - cosZ )
g) f'(x) =—e*(sin(x) — cos(x)) f"(x) = —2e™* - cos (x)
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